3.24707pt
1.62354pt
1.08235pt
1.08235pt

306 55 € 36T 4 2311957 £ o U £ “Earr” (Sputnik) St § 52
IS LBt (satellite) Sy e e U1 s | Usl S o S
&Ju&uﬁ;b{tgé;_ug,&;?bﬂ?wmLél.dwn%ﬂugﬁ“fu:’v
:atfua' rd}/» =5 S (Sl sl = el (}"JL 3 PRy, J&V ] (}Lf
BE JQ)!;T u”’;! 219 = dwe A U SP sy s 36 s 8!; u/g/» 12
jﬁ-u}&l?éu&&&)%ﬁp@u’ﬁuf/»/»ugé’fz-ujuwu&
,Clg Y ET sl U L/’“ L gr"” O -2

LEU}}’LJ’?»JL?!7—%):«0.@5@)&-%,63/&&&/&@(}?{
o P PSS usgf L e o F & e 0 S o
et bk £ & G o 67 2o eis gr A7y di5”

U N S 3 6 U6 e b U BT o
SE



